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A2l Z2HW1) 1000.62 SEo| ZEH(W2): 0
FEE SMSZW3): 945.03
FEEUZ| ME S E SZH(W4): 1.4
2 E A S M E a3 F ) 2000 ml ME S| 100 ml
Tl e M=t 57.21_ Tl el Exgtk 57.28
W4= st 2l 2|/l ER T (Tt = - EIHHH)
W4= 2000 *( 57.28 - 57.21)/100 = 1.4
0ix| &te| ZHZIIZ(W5) 10.20
OfX|gte| ME 2 14.26 OiX|gte| ==, 24.46
*APEHR 2E:[(W1-W2)-(W3+W4+W5))/(W1-W2)*100
=[( 1000.62 - 0 )( 94503 + 14 + 1020 ) 100062 - 0O )*100
= 44 %
APEHR RS M 2B M 2H B 956.63
HeH s e s |sots gHI|1= v 4
40mm 0 956.63 100.0 100
30mm 0.00 956.63 100.0 95~100
25mm 0.00 956.63 100.0 80~100
20mm 165.50 791.13 82.7 55~90
13mm 214.74 576.39 60.3 46~80
10mm 111.35 465.04 48.6 40~70
5mm 121.91 343.13 35.9 28~55
2.5mm 99.85 243.28 25.4 19~42
0.6mm 94.75 148.53 15.5 7~26
0.3mm 37.96 110.57 11.6 4~19
0.15mm 33.17 77.40 8.1 2~13
0.08mm 28.71 48.69 5.1 1~7
PAN 42.04 6.65
eI 949.98
71= Al




